PartSmart Web Katalog mit Elektronikteilen

https://globegroup.partsmartweb.com/scripts/EmpartISAPLAIL...

82V Backpack Blower 82B1000 2400286 6952909026992 - 2400286 Exploded View

1 I 7
78-98700%1 !
A
Exd H
A8 AARE

(| Cramer S0VRAR

FEREAT 2 [N ABELANE

i R Mo | e [ F [@X —
' Vot [T 3

5 3 . ET e | o

" T o m ans gl ZE ] - LGB 4 B LI X & b
1 Page-design 20042017 ol ART Network Services, Inc, .

1 von?2

11.03.2022, 08:42



PartSmart Web Katalog mit Elektronikteilen https://globegroup.partsmartweb.com/scripts/EmpartISAPLAIL...

Ref # Part # Description Qty Context Note
1  RA341081816 Oblate tube assembly 1
2 RA341071816 Rounded tube assembly 1
3 RA341061816 Top tube assembly 1
4 RA37902144 belt assembly 1
5 RA341021816B Cross assembly 1
6 RA341041816M Cruise control assembly 1

Screw m5%25 1

Sping washer 1

Cruise control 1

Flat washer 2

7 RA33301511 Hook assembly. 1
8 RA341121816D Housing assembly. 1
Right housing 1

U-buckle 2

Lock nut m5 1

Left housing 1

Hexagonal socket pan head screw 8

Hexagonal socket pan head self-tapping screw ST4.2*%25-F 1

Nut M3 4

9 RA341031816M Switch trriger assembly. 1
10 RA341011816 Inlet tube assembly. 1
11  RA361001816 Moto assembly. 1
Moto 1

Motor shock pad 4
Shrinkable tubef6 22

12 RA341031807C inlet guard assembly 1
Air inlet cover 1

Hexagonal socket pan head self-tapping screw ST4.2*25-F 4

13 RA364021816 Waterproofed assembly. 1
14 RA362011816 Pcb assembly. 1
Pcb 1

Speed switch 1

Hexagonal socket screw M3 4

Female connector 1
Shrinkable tubef6 22

15 2902886 ACCESSORY Power cord assembly 1

2 von 2 11.03.2022, 08:42



